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M e A E
2016 2016 Z=7H(B-A) 2016 2016 Z7H(B-A)
2 st = of At 1Xt &4 2 &t = of| A 11X &4
(A) (B) OH £ 5= (%) (A) (B) OH =~ HI & (%)
st Al 472,120 467,202 | - 4,918 | - 1 s Al 472,120 467,202 | - 4,918 | - 1
At | AR Y E | - 480 480 100 AR H] Q14| & A 353,717 323,135 |- 30,583 | - 9
Al =l - 480 480 100 = o 353,717 323,135 |- 30,583 | - 9
Hxgsdd | 2Ex24¢ A& A 433,320 431,780 | - 1,540 = AR FEH| 2~ A 1,900 1,900 - -
Al -E82=x3 433,320 431,780 | - 1,540 - 7| &2dy| 1,800 1,800 - -
FTAZFY | FeFF & A 8,750 11,342 2,592 30 3| ofH| 100 100 - -
NyzadZ 5,400 7,012 1,612 30 2| 2~ A 28,900 35,130 6,231 22
HIX| Y =2 3,350 4,330 980 29 0 Hj 1,800 1,800 - -
=24 2
HelZ HMedg A | 20,000 10,000 | - 10,000 | - 50 o 1,530 2,439 909 59
T T=
HHo| X ol
b(';r—;—E:*)D - 1,600 1,600 100 2322 14,090 16,050 1,960 14
golxelZ -
oo 15,000 4,000 |- 11,000 | - 73 HAM=o2 7,720 7,922 202 3
(XIH=F)
meldes 000 4,400 |- 600 | - 12 NEL] 700 2,200 1,500 214
CEEEEE) S : At , 5
o= olg= | 9,450 9,755 305 3 7| Et2dH| 3,060 4,720 1,660 54
HAdzoldZ 1,000 555 |- 445 | - 45 | R A=A Al M| & A 8,305 16,962 8,657 104
HAdzolad=Z
ol 8,450 9,200 750 9 Al AdH| 7,237 7,237 - -
(ZH3)
s el & &~ A 600 3,846 3,246 541 AR S| 500 8,724 8,224 | 1,645
7| Etof| 20| X
! Fi'm | % 100 100 - - SESESEIENEE] 567 1,000 433 76
BN
7| ettt 500 3,746 3,246 649 Al H| Abdd| A~ A 79,049 86,525 7,477 9
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(A) (B) oH 4 B (%) (A) (B) o= | H|E(%)
2K AL H] 48,150 50,787 2,637 5
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Atz 22| AL ] 6,800 6,740 | - 60 | - 1
HAMXR A | 3,100 3,872 772 25
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A ZFoN e
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A7) ebgl 3t
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XH En_l'xl‘?‘._JAI‘%I Hl - 500 500 100
NS X E 2~ A 200 200 - -
x| E 200 200 - -
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of || 50 50 - -
Rl - 3,300 3,300 100
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LSS PN RPN 50,0002 x274 2 100,000
igiﬂ%zw%wa 571 500
ZEAILHS1%AIH 500, 0008 *13] 500,000
st 28 E s AL 900,000
HXHF2 2 3,350 4,330 HIX Y SZ 4,330,000
el 2 el 2 2~ Al 20,000 10,000
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2016 2016 Z=ZH(B-A)
of & 1xt=4 of & & & uf o (e o)

(A) (B) A HIE(%)

H
o
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I

A 472,120 467,202 |- 4,918 |- 1

AbFH]

ro
i
=3

s

| 353,717 323,135 |- 30,583 |- S

0 246,758 234,689 |- 12,069 |- 517122 9,242,000

oy

4,418,000

5,904,000

21,154,000

8,247,000

23,544,000

5,454,000

17,080,000

1,670,000

15,390,000

3,260,000

13,360,000

4,890,000

11,690,000

3,160,000

3,000,000

83,226,000

Mg 62,482 52,553

9,929
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F7H| 2,772,600

1,813,200

1,649,400
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o B = of & o (Etel & g)
(A)
1,569,600
1,024,800
1,026,000
2,004,000
948,000
900,000
ey e 403,740
415,890
397,620
531,360
1,903,860
IETY 180,000 «1H =971 & = 1,620,000
80,0008 1«97 & = 720,000
60,0008 1% «37H & = 180,000
60,000 «1%«1070 & = 600,000
60,0008 1 «17H 2 = 60,000
140,0008 +5% «1274 & =
E NN = 140,0008 ~1G =174 = 9,380,000
140,000 «15 +671 & =
SATE (e =E) ]igjggggﬂjﬂgﬂij _ 4,760,000
140,0008 <2« 1174 & =
SARTE (T Ee ™) 140,000« » 974 & = 6,160,000
140,0009 <2« 274 & =
AlZkel =g 9,798,800
of Xp4 gt 1,914,090
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2016 2016 Z=ZHB-A)
= e 5 off & x5 of & & & ul o (el H)
(A) (B) K [ HIE(%)

PHE 100,000
Molead 300,000 1274 =| 3,600,000
LEFAHE 200,000 13| = 200,000
H M-Szt 7,720 7,922 202 3 |gEuReEa 50,0002 +23| = 100,000
MHARSEH 30,7208 *4% x13] = 92,160
St AL ol 2RI E 3y 510,000 +43] = 2,040,000
R 390,0009 43| = 1,560,000
EZ YA =X 7 ol 2lH] 100,00094 %43 = 400,000
ﬁiiwilgxl/\lgﬂgg 100,00084 %13 = 100,000

o1 gh3(H|
ANSALER 1,6,842,20094 20 =| 3,368,400
KES ALl 126,000
NSRLAETR 30,0008 x2cH x13] = 60,000
SEUSIAM 75,0008 +13] = 75,000
At 700 2,200 1,500 214 |AHg 7= 100,000 *1CH*122] =| 1,200,000
Argdu|FAH], 22 EH| 500,000 *2ch x13] = 1,000,000
7|Et2 ] 3,060 4,720 1,660 54 |HERS H AsX AUy 130,000 «1274& =/ 4,300,000
E—SH%MK}“—@%KUHHE& 300,000
7| B2 ] 120,000

Ald] 2~ A 8,305 16,962 | 8,657 104

Al 7,237 7,237 - - |pal 237,400
AldBl(AHE =) nsFe 2 7,000,000
KHoHF S 500 8,724 | 8,224 | 1,645 |AbAHF SH| Mobgs| ZolelE S FEl =| 7,815,041
RHLEF| S| (QIME ) ARR I = 909,400
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2 E = off &4 11Xt &= of & & & U oA (chel o ¥)
(A) (B) o | H|S(%)
Al L& R X | 567 1,000 433 76 |AIA FHH| 7 X|H| FH|(BA AP BRE HES) 7AIH = 1,000,000
AtdH| 7| 2hAtd | &~ A 79,049 86,525 7,477 9
YR Al 48,150 50,787 2,637 5 |Atdcted x| Ay 5,837,179
RHECEXH(QIME =) 4,950,000
Apoi7H ol oy oo0al| 27,050,000
HIZIE SO0 2
SRS S o0
O|OF7| AbRIEF WSH| 400,000€
23tgt=EH| 400,000 2,400,000
FHH 2 =4 1,600,0009
ENL RN 1,700 2,500 800 47 |Atd "It ol | 300,0009 »23| = 600,000
RN L) 300,0008+13] = 300,000
MZRX| 745t 800,0009 »23| = 1,600,000
WNE R EIPN ) 6,800 6,740 |- 60 |- 1|2z 3 5,140,000
QU bR S| A 100,000
S X| A A 1,000,000
NEIES R PN 500,000
HAME| At 3,100 3,872 772 25 |\ o x| Al 300,0008x13] = 300,000
of{o| & Al 700,0008+13] = 700,000
of2AlLtE0| 800,0008x13] = 800,000
L stA 2 8 ELhs AL | 900,000
i?‘zl)l%ﬂ%%ﬂ%w%xl% 71,500
(j\?}éﬂ@%%@%%ﬂxl 300,000
UEUX|LHE| 800,0008x13] = 800,000
go*f[gjj%% 800 -|- 800 |- 100
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2016 2016 Z=2ZH(B-A)
B El 2 ofat | x5 of & A & W oo (2l ;g
(A) (B) A | HIE(%)
Eofxte| x| 5T _ -
AbH| 1,700 1,700 100
SEAAH| 632 2,132 1,500 237 | X9 AtE| B EH| 500,000 23| = 2,000,000
=1 o| x| Zt2|H| 132,000 *13] = 132,000
2oyt Xl o] o 2F71 Gt CIME|E 7,894,600%
AbH| 14,367 16,895 2,528 18 |2 & 271 | x|2lofZ 1,500,0002*52=7 5000002 15,394,600
1,500,000
2IXH ES _ _
- J\:LTHTJE 1,800 1,800 - - |2 2Ay| 100,000 *63| = 600,000
=
23 2HH]| 300,000 43| = 1,200,000
=] gial o} _ -
L_JiH}o%;T_El - 1,300 1,300 100 |AHY S ALXIZHE S 150,000 23| = 300,000
=
dziotgtel & 1,000,000 «15| = 1,000,000
EZAI%LE _ o x| = FALOd
X Chx| 94 AF | 500 500 100 |uS27|sEZAIHEH| 500,000
TXE TXE &~ A 200 200 - -
HXE 200 200 - - |&EXE 200,000
oila[ 8] oila[H] A
ol J|g 9l J|g o~ A 50 3,350 3,300 6,600
ol 5] H| 50 50 - - [olle]8] 50,000
ghetm - 3,300 3,300 100 |gtet= A EZFHrta (A7 Ea]) 3,245,900
7|22 Y| ST Fo|Atetek g 30,000
Metole S o Zo| RpuketE 20,000
AtRd7) ere| S Eof Fo| RHetetE 2,000
SAAE STl FolAtEtek s 2,000




